F£28 ZEoONRT ML (10)

IS D FI A
RIMVOWNFEEZFR AL T, KB OMWE ZFEH 3T 2121%, IRO 2 BRA M5,

1. AB2=|AB|’=AB-AB AZTX(E 28T S
9. 3H0.A.BMNEALLEX OALOB © O0A- OB= ]

<fI21> —HUOEZaOTFEMNEEABCDIZEBWT, ABCDOELZGEBL,

- — —_—

AB=Db.AC=C.AD=d *LT. KOM\ZE 2 L,

(1) b2, bd., &-dzsk k.

o= w = o 1.
b*¢c=b:¢=aXxXaXcos60 :Eaz
- — N 1 .
bsd=b:d=aXxXaXcos60° :Eaz
> 3 1 o 1 <
c*d=¢-d=axXaXcos60 :Eaz
(2)ABLCD#%FH X, 5
AB-CD=0% 78T L,
- 1 1 C

ﬁ-CD:B’-(H—E)zB-E—E-EzEaZ—Eaﬁ:o #~T.ABLCD

(3)AG%b. 6. d LTEL, AG LBCEIEH L,

—_, b+c+d
GIXABCDOHE.L LY, AG=
3
AG-BC= (). (¢-5) =1(B-¢-B-B+c-c-brerd-c-5d)

AG-BC=0kb. ft>C. AGLBC



6 FEARZER (CH T DR

2RI DIERE & D S - S R D EEE //B

A
ZEM D25 A (ay, a,, a3), B(by, by, b)) D&X, 5
B \y
AB=(b; — ay,b, — ay, bz — as3)

THHNG, 25 A, B O HEABIX x

AB:\/(IM —a;)? + (b, —ay)? + (bs —az)?

EIZ, OA=Ja,? + ay? + as?

<H22> 25 A0,—4,7), B(7,2,—5), C(—2, 3. 4)DEX RDOB|ITDOESERD L

(1) OA=/12+ (—4)2+ 72 =V1+ 16 + 49 = V66

(2) AB=+36 + 36 + 144 = /216 = 6V6

(3) BC=+81+1+81=+163

Sie

Ry ABZmM nD NS T 55 2PET T,

P
__. mb+nd
OP=—"""
m+n A
X0, HP(x,y.z) DELEI, O
mbq+naq mb,+na, mbs+nasz
Xx=- = ==
m+n Y m+n m+n

KR ABZM :nD A T 58 2Q8T Ui,

_ . mb-nd
0Q=—

m—-n



